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Cwestiwn

90 100

Ffactor Hygyrchedd%



Sticky Note
Rhif y cwestiwn fel arfer

Sticky Note
Nifer yr ymgeiswyr sy’n ceisio ateb y cwestiwn


Sticky Note
Cyfrifir y sgôr gymedrig trwy adio sgorau'r ymgeiswyr unigol a'u rhannu â chyfanswm nifer yr ymgeiswyr. Os bydd yr ymgeiswyr i gyd yn cyflawni'n dda ar eitem arbennig, bydd y sgôr gymedrig yn agos at yr uchafswm marciau. I'r gwrthwyneb, os bydd ymgeiswyr yn gyffredinol yn cyflawni'n wael ar yr eitem bydd gwahaniaeth mawr rhwng y sgôr gymedrig a'r uchafswm marciau. Bydd cymharu'r marciau cymedrig yn syml yn dwyn sylw at yr eitemau hynny sy'n cyfrannu'n arwyddocaol at berfformiad cyffredinol yr ymgeiswyr. Fodd bynnag, gan nad oes i bob eitem yr un uchafswm marciau, arwydd rhannol yn unig o berfformiad ymgeiswyr a geir trwy gymharu'r cymedrau. Nid yw cael cymedrau cyfartal o anghenraid yn golygu perfformiad cyfartal. Os oes gan gwestiynau uchafswm marciau gwahanol, dylid defnyddio'r ffactor hygyrchedd i gymharu perfformiad.


Sticky Note
Mae'r gwyriad safonol yn mesur gwasgariad y data o gwmpas y sgôr gymedrig. Po fwyaf yw'r gwyriad safonol, mwyaf gwasgaredig (neu lai cyson) yw perfformiadau'r ymgeiswyr am yr eitem honno. Mae cynnydd yn y gwyriad safonol yn tueddu i fod yn arwydd o amrywiaeth gynyddol o blith ymgeiswyr, neu o bapur sy'n gwahaniaethu fwy, gan fod y marciau'n fwy gwasgaredig o gwmpas y canol. Mewn gwrthgyferbyniad, byddai gostyngiad yn y gwyriad safonol yn awgrymu bod mwy o unffurfiaeth ymhlith yr ymgeiswyr, neu bod llai o wahaniaethu ar y papur, gan fod marciau'r ymgeiswyr wedi'u clystyru fwy o gwmpas y canol.


Sticky Note
Uchafswm y marciau ar gyfer cwestiwn arbennig.

Sticky Note
Mae ffactor hygyrchedd eitem yn mynegi'r marc cymedrig fel canran o'r uchafswm marciau (Uchaf. Marciau) ac yn fesur o hygyrchedd yr eitem. Os yw'r marc cymedrig a enillir gan yr ymgeiswyr yn agos at yr uchafswm marciau, bydd y ffactor hygyrchedd yn agos at 100 y cant a'r eitem yn cael ei hystyried yn hygyrch iawn. Fodd bynnag, os yw'r marc cymedrig yn isel o'i gymharu ag uchafswm y sgôr, bydd y ffactor hygyrchedd yn fychan a'r eitem yn cael ei hystyried yn llai hygyrch i'r ymgeiswyr.

Sticky Note
Mae'r tabl, i bob eitem, yn dangos nifer (N) a chanran yr ymgeiswyr wnaeth roi cynnig ar y cwestiwn. Wrth gymharu eitemau ar y mesur hwn mae'n bwysig ystyried trefn ymddangos yr eitemau ar y papur. Os oes cyfanswm amser cyfyngedig i'r papur, mae'n bosibl na fydd gan rai ymgeiswyr ddigon o amser i gwblhau'r papur. Gall hyn olygu, yn ôl y mesur hwn, fod gan yr eitemau hynny sydd ar ddiwedd y papur ffigur datchwyddedig. Os nad ystyrir bod yr amser a ddyrannwyd am y papur yn ffactor arwyddocaol, gall canran isel olygu bod problemau hygyrchedd. Pan fydd ymgeiswyr yn cael dewis cwestiwn mae'r ystadegau'n dangos blaenoriaethau'r ymgeiswyr, ond dylanwad y polisi addysgu yn y ganolfan hefyd.
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AS RELIGIOUS STUDIES
MARKING INSTRUCTIONS

Positive marking

It should be remembered that candidates are writing under examination conditions and credit
should be given for what the candidate writes, rather than adopting the approach of
penalising him/her for any omissions. It should be possible for a very good response to
achieve full marks and a very poor one to achieve zero marks. Marks should not be
deducted for a less than perfect answer if it satisfies the criteria of the mark scheme.

Exemplars in the mark scheme are only meant as helpful guides. Therefore, any other
acceptable or suitable answers should be credited even though they are not actually stated
in the mark scheme.

Two main phrases are deliberately placed throughout each mark scheme to remind
examiners of this philosophy. They are:

¢ “Candidates could include some of the following, but other relevant points should be
credited.”
o “This is not a checklist, please remember to credit any valid alternatives.”

Rules for Marking
1. Differentiation will be achieved on the basis of candidates' response.

2. No mark scheme can ever anticipate or include every possible detail or interpretation;
examiners should use their professional judgement to decide whether a candidate's
particular response answers the question in relation to the particular assessment
objective.

3. Candidates will often express their ideas in language different from that given in any
mark scheme or outline. Positive marking therefore, on the part of examiners, will
recognise and credit correct statements of ideas, valid points and reasoned
arguments irrespective of the language employed.

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor provides a description of the performance level for that band. Each band contains
marks. Examiners should first read and annotate a candidate's answer to pick out the
evidence that is being assessed in that question. Once the annotation is complete, the mark
scheme can be applied. This is done as a two stage process.

Banded mark schemes stage 1 — deciding on the band

When deciding on a band, the answer should be viewed holistically. Beginning at the lowest
band, examiners should look at the candidate's answer and check whether it matches the
descriptor for that band. Examiners should look at the descriptor for that band and see if it
matches the qualities shown in the candidate's answer. If the descriptor at the lowest band is
satisfied, examiners should move up to the next band and repeat this process for each band
until the descriptor matches the answer.

© WJEC CBAC Ltd.





If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’
approach should be adopted to decide on the band and then the candidate's response
should be used to decide on the mark within the band. For instance, if a response is mainly
in band 2 but with a limited amount of band 3 content, the answer would be placed in band
2, but the mark awarded would be close to the top of band 2 as a result of the band 3
content.

Banded mark schemes stage 2 — deciding on the mark

Once the band has been decided, examiners can then assign a mark. During standardising
(at the Examiners’ marking conference), detailed advice from the Principal Examiner on the
qualities of each mark band will be given. Examiners will then receive examples of answers
in each mark band that have been awarded a mark by the Principal Examiner. Examiners
should mark the examples and compare their marks with those of the Principal Examiner.

When marking, examiners can use these examples to decide whether a candidate's
response is of a superior, inferior or comparable standard to the example. Examiners are
reminded of the need to revisit the answer as they apply the mark scheme in order to
confirm that the band and the mark allocated is appropriate to the response provided.
Indicative content is also provided for banded mark schemes. Indicative content is not
exhaustive, and any other valid points must be credited. In order to reach the highest bands
of the mark scheme a learner need not cover all of the points mentioned in the indicative
content, but must meet the requirements of the highest mark band.

Awarding no marks to aresponse

Where a response is not creditworthy, that is it contains nothing of any relevance to the
guestion, or where no response has been provided, no marks should be awarded.
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 15 marks

Demonstrate knowledge and understanding of religion and belief, including:

religious, philosophical and/or ethical thought and teaching

influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

13-15 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question set.
The response shows an excellent standard of coherence, clarity and organisation.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence and
examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Thorough and accurate use of specialist language /vocabulary in context.
Excellent spelling, punctuation and grammar.

10-12 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response shows a very good standard of coherence, clarity and organisation.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.
Very good spelling, punctuation and grammat.

7-9 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response shows a satisfactory standard of coherence, clarity and organisation.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and
examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.
Mainly accurate use of specialist language and vocabulary in context.
Satisfactory spelling, punctuation and grammar.

4-6 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.
A basic response, addressing some of the demands of the question set.
Partially accurate response, with some signs of coherence, clarity and organisation.
The response demonstrates limited depth and/or breadth, including limited use of evidence and
examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.
Some accurate use of specialist language and vocabulary in context.
Some minor, recurring errors in spelling, punctuation and grammar.

1-3 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy and
relevance.
A very limited response, with little attempt to address the question.
Very limited accuracy within the response, with little coherence, clarity and organisation.
The response demonstrates very limited depth and/or breadth. Very limited use of evidence and
examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary
Errors in spelling, punctuation and grammar affect the meaning and clarity of communication.

N.B. A maximum of 1 mark should be awarded for a response that only demonstrates

'knowledge in isolation'

No relevant information.
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Band

Assessment Objective AO2- Part (b) questions 15 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

13-15 marks

Confident critical analysis and perceptive evaluation of the issue.

A response that successfully identifies and thoroughly addresses the issues raised by the
guestion set.

The response shows an excellent standard of coherence, clarity and organisation.
Thorough, sustained and clear views are given, supported by extensive, detailed reasoning
and/or evidence.

Thorough and accurate use of specialist language and vocabulary in context.

Excellent spelling, punctuation and grammar.

10-12 marks

Purposeful analysis and effective evaluation of the issue.

The main issues raised by the question are identified successfully and addressed.
The response shows a very good standard of coherence, clarity and organisation.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

Very good spelling, punctuation and grammar.

7-9 marks

Satisfactory analysis and relevant evaluation of the issue.

Most of the issues raised by the question are identified successfully and have generally been
addressed.

The response shows a satisfactory standard of coherence, clarity and organisation.

Most of the views given are satisfactorily supported by reasoning and/or evidence.

Mainly accurate use of specialist language and vocabulary in context.

Satisfactory spelling, punctuation and grammar.

4-6 marks

Some valid analysis and inconsistent evaluation of the issue.

A limited number of issues raised by the question set are identified and partially addressed.
Partially accurate response, with some signs of coherence, clarity and organisation.

A basic attempt to justify the views given, but they are only partially supported with reason
and/or evidence.

Some accurate use of specialist language and vocabulary in context.

Some minor, recurring errors in spelling, punctuation and grammar.

1-3 marks

A basic analysis and limited evaluation of the issue.

Very limited accuracy within the response, with little coherence, clarity and organisation.

An attempt has been made to identify and address the issues raised by the question set.
Little attempt to justify a view with reasoning or evidence.

Some grasp of basic specialist language and vocabulary.

Errors in spelling, punctuation and grammar affect the meaning and clarity of communication.

No relevant analysis or evaluation.
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OPTION C: AN INTRODUCTION TO THE STUDY OF JUDAISM

MARK SCHEME

To be read in conjunction with the generic level descriptors provided.

Section A

Explain the significance of the Mosaic covenant at the time of Moses.

[AO1 15]

Candidates could include some of the following, but other relevant
responses should be credited.

The Mosaic covenant, a conditional covenant, is significant at the time of
Moses because it is where God (Yahweh) promises to be the God of the
Israelites only if they obey the set of divine laws contained within the
covenant. The Mosaic covenant reinforces the first covenant God had
previously made with Abraham. This new covenant gives instructions to
the Jews as to what is required of them to maintain this special
relationship with God.

The Mosaic covenant is not, and will never be, a covenant of equals. It is
not possible to be an equal contract. The Mosaic Covenant is given by
God to the Jewish people. It is the second covenant established between
God and the Israelites.

Moses is promised by God that he will never abandon the Jews because
they are a divinely chosen people. This is a unique relationship between
God and the Jews and God promises that he will never abandon the
Jews.

In the Mosaic covenant God is telling the Jews within the covenant there
are a number of significant responsibilities which the Jews must faithfully
carry out as part of the covenant agreement. The Jews must dedicate
themselves to serving the Lord forever and must attempt to make the
world a better and more holy place by obeying all of God’s laws.

God identifies himself as the God Yahweh and the Decalogue of Exodus
states his laws.

God has delivered the Jews out of slavery in Egypt.

The form of this covenant resembles the suzerainty treaty in the ancient Near
East. Explanation of this form of covenant may be included as a response.

This is not a checklist, please remember to credit any valid alternatives.





1. (b)

© WJEC CBAC Ltd.

‘The covenant is simply a means of religious control.’

Evaluate this view. [AO2 15]

Candidates could include some of the following, but other relevant
responses should be credited.

It could be interpreted as a form of religious control, when the covenant
was first established. The Israelites, freed from human slavery in Egypt,
had been immersed in Egyptian culture and were ill-prepared for the
religious and cultural changes of their new way of life.

It is a form of religious control by creating a framework in order that they
would not be tempted by the religion of the Canaanites, which they would
encounter once they had settled in the Promised Land. It was important
that the people had a structure upon which to establish the covenant
community, and this structure encompassed more than just things which
we would recognise as belonging to religious practice. Thus the 613
mitzvot covered all aspects of daily life, both practical as well as religious,
and gave the Jews their special identity as the chosen people of God.
This is not religious control but rather religious freedom to live in the way
God commands; keeping the mitzvot faithfully is regarded more of a
discipline rather than a form of religious control Jews follow the mitzvot to
this day and Jewish communities and individuals follow God’s laws to
demonstrate their communal and personal loyalty.

Not control but rather Jews living according to God’s laws only to keep his
promise of protection. In this relationship God is the suzerain.

The covenant is not considered to be a form of religious control because
some Jews live without keeping all of the mitzvot, e,g, in Reform Judaism.
Thus it is not 'control'. Keeping the requirements of the covenant is a way
of communicating with God, and underlines the Jews wanting to continue
to show the responsibility they have as partners in the covenant which
God made with the Mosaic covenant at Mount Sinai.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

Dechreuad gweddol drwy ymgeisio creu cyflwyniad i'r cwestiwn, ond does dim datblygiad pellach. 
Mae yna peth naratif amherthnasol ma er mae yna ychydig o ymgais i'w gysylltu a'r cwestiwn. 
Ar ddiwedd y paragraff mae yna ateb boddhaol i'r cwestiwn sydd yn dangos dealltwriaeth o grefydd a chred Iddewig. 



Sticky Note

Eto, mae dull naratif yn colli ffocws i'r cwestiwn.  



Sticky Note

Mae yna ymgais boddhaol yma i gadw ffocws y cwestiwn. 



Sticky Note

Colli ffocws a'r cwestiwn ychydig yma - pwyslais y cwestiwn yw heddi. 
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Sticky Note

Mae hyn yn ateb boddhaol gyda rhai pwyntiau addawol.  Byddai ffocysu ar y cwestiwn trwy'r ateb wedi ei wella.  Mae yna gormod o hanes bywyd Moses yn cael ei drafod a dim cyfeiriad at natur y cyfamod neu goblygiadau'r cyfamod i'r Iddewon. 



Sticky Note

Dealltwriaeth o'r cwestiwn yn glir o'r dechrau. Cyfeiriad at Abraham yn dangos dealltwriaeth bellach o oblygiadau'r cyfamod. 



Sticky Note

Dealltwriaeth o'r 10 Gorchymyn on nid y Mitzvot yn eu cyfanwaith. Ymaten braidd yn arwynebol. 
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Sticky Note

Mae ymgais i greu dadl yma drwy son am rol y 10 Gorchymyn yn y gyfraith. 
Mae'r ddadl yn colli ffocws ychydig er mae yna ymgais glir i ffurfio dadl drwy arddangos dealltwriaeth o grefydd, Mae'r prif syniadau yn ymwneud a'r ddadl yn cael eu trefod er heb eu datblygu.  
Byddai son am natur hanesyddol y cyfamod a rol moesol personol y rheolau a'r cyfamod wedi wella'r ateb. 






















UNED 1 - Cyflwyniad i Astudiaeth o Grefydd
Opsiwn C — Cyflwyniad i Astudiaeth o Iddewiaeth
Mae rhan (a) pob cwestiwn yn profi eich gwybodaeth a'ch dealltwriaeth o grefydd a chred.
Mae rhan (b) pob cwestiwn yn profi eich sgiliau dadansoddi a gwerthuso, o ran agweddau ar ac
ymagweddau at grefydd a chred.
Adran A

Atebwch un cwestiwn o’r adran hon.

Naill ai,
1. (@) Esboniwch arwyddocad cyfamod Moses yng nghyfnod Moses. [15]

(b)  ‘Dull o reoli crefyddol yn unig yw’r cyfamod.’
Gwerthuswch y farn hon. [15]
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AS RELIGIOUS STUDIES
MARKING INSTRUCTIONS

Positive marking

It should be remembered that candidates are writing under examination conditions and credit
should be given for what the candidate writes, rather than adopting the approach of
penalising him/her for any omissions. It should be possible for a very good response to
achieve full marks and a very poor one to achieve zero marks. Marks should not be
deducted for a less than perfect answer if it satisfies the criteria of the mark scheme.

Exemplars in the mark scheme are only meant as helpful guides. Therefore, any other
acceptable or suitable answers should be credited even though they are not actually stated
in the mark scheme.

Two main phrases are deliberately placed throughout each mark scheme to remind
examiners of this philosophy. They are:

¢ “Candidates could include some of the following, but other relevant points should be
credited.”
o “This is not a checklist, please remember to credit any valid alternatives.”

Rules for Marking
1. Differentiation will be achieved on the basis of candidates' response.

2. No mark scheme can ever anticipate or include every possible detail or interpretation;
examiners should use their professional judgement to decide whether a candidate's
particular response answers the question in relation to the particular assessment
objective.

3. Candidates will often express their ideas in language different from that given in any
mark scheme or outline. Positive marking therefore, on the part of examiners, will
recognise and credit correct statements of ideas, valid points and reasoned
arguments irrespective of the language employed.

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor provides a description of the performance level for that band. Each band contains
marks. Examiners should first read and annotate a candidate's answer to pick out the
evidence that is being assessed in that question. Once the annotation is complete, the mark
scheme can be applied. This is done as a two stage process.

Banded mark schemes stage 1 — deciding on the band

When deciding on a band, the answer should be viewed holistically. Beginning at the lowest
band, examiners should look at the candidate's answer and check whether it matches the
descriptor for that band. Examiners should look at the descriptor for that band and see if it
matches the qualities shown in the candidate's answer. If the descriptor at the lowest band is
satisfied, examiners should move up to the next band and repeat this process for each band
until the descriptor matches the answer.
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If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’
approach should be adopted to decide on the band and then the candidate's response
should be used to decide on the mark within the band. For instance, if a response is mainly
in band 2 but with a limited amount of band 3 content, the answer would be placed in band
2, but the mark awarded would be close to the top of band 2 as a result of the band 3
content.

Banded mark schemes stage 2 — deciding on the mark

Once the band has been decided, examiners can then assign a mark. During standardising
(at the Examiners’ marking conference), detailed advice from the Principal Examiner on the
qualities of each mark band will be given. Examiners will then receive examples of answers
in each mark band that have been awarded a mark by the Principal Examiner. Examiners
should mark the examples and compare their marks with those of the Principal Examiner.

When marking, examiners can use these examples to decide whether a candidate's
response is of a superior, inferior or comparable standard to the example. Examiners are
reminded of the need to revisit the answer as they apply the mark scheme in order to
confirm that the band and the mark allocated is appropriate to the response provided.
Indicative content is also provided for banded mark schemes. Indicative content is not
exhaustive, and any other valid points must be credited. In order to reach the highest bands
of the mark scheme a learner need not cover all of the points mentioned in the indicative
content, but must meet the requirements of the highest mark band.

Awarding no marks to aresponse

Where a response is not creditworthy, that is it contains nothing of any relevance to the
guestion, or where no response has been provided, no marks should be awarded.
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 15 marks

Demonstrate knowledge and understanding of religion and belief, including:

religious, philosophical and/or ethical thought and teaching

influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

13-15 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question set.
The response shows an excellent standard of coherence, clarity and organisation.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence and
examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Thorough and accurate use of specialist language /vocabulary in context.
Excellent spelling, punctuation and grammar.

10-12 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response shows a very good standard of coherence, clarity and organisation.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.
Very good spelling, punctuation and grammat.

7-9 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response shows a satisfactory standard of coherence, clarity and organisation.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and
examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.
Mainly accurate use of specialist language and vocabulary in context.
Satisfactory spelling, punctuation and grammar.

4-6 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.
A basic response, addressing some of the demands of the question set.
Partially accurate response, with some signs of coherence, clarity and organisation.
The response demonstrates limited depth and/or breadth, including limited use of evidence and
examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.
Some accurate use of specialist language and vocabulary in context.
Some minor, recurring errors in spelling, punctuation and grammar.

1-3 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy and
relevance.
A very limited response, with little attempt to address the question.
Very limited accuracy within the response, with little coherence, clarity and organisation.
The response demonstrates very limited depth and/or breadth. Very limited use of evidence and
examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary
Errors in spelling, punctuation and grammar affect the meaning and clarity of communication.

N.B. A maximum of 1 mark should be awarded for a response that only demonstrates

'knowledge in isolation'

No relevant information.
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Band

Assessment Objective AO2- Part (b) questions 15 marks
Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.

13-15 marks

Confident critical analysis and perceptive evaluation of the issue.

A response that successfully identifies and thoroughly addresses the issues raised by the
guestion set.

The response shows an excellent standard of coherence, clarity and organisation.
Thorough, sustained and clear views are given, supported by extensive, detailed reasoning
and/or evidence.

Thorough and accurate use of specialist language and vocabulary in context.

Excellent spelling, punctuation and grammar.

10-12 marks

Purposeful analysis and effective evaluation of the issue.

The main issues raised by the question are identified successfully and addressed.
The response shows a very good standard of coherence, clarity and organisation.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

Very good spelling, punctuation and grammar.

7-9 marks

Satisfactory analysis and relevant evaluation of the issue.

Most of the issues raised by the question are identified successfully and have generally been
addressed.

The response shows a satisfactory standard of coherence, clarity and organisation.

Most of the views given are satisfactorily supported by reasoning and/or evidence.

Mainly accurate use of specialist language and vocabulary in context.

Satisfactory spelling, punctuation and grammar.

4-6 marks

Some valid analysis and inconsistent evaluation of the issue.

A limited number of issues raised by the question set are identified and partially addressed.
Partially accurate response, with some signs of coherence, clarity and organisation.

A basic attempt to justify the views given, but they are only partially supported with reason
and/or evidence.

Some accurate use of specialist language and vocabulary in context.

Some minor, recurring errors in spelling, punctuation and grammar.

1-3 marks

A basic analysis and limited evaluation of the issue.

Very limited accuracy within the response, with little coherence, clarity and organisation.

An attempt has been made to identify and address the issues raised by the question set.
Little attempt to justify a view with reasoning or evidence.

Some grasp of basic specialist language and vocabulary.

Errors in spelling, punctuation and grammar affect the meaning and clarity of communication.

No relevant analysis or evaluation.
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Explain the significance of the Torah received at Mount Sinai. [AO1 15]

Candidates could include some of the following, but other relevant
responses should be credited.

The account of how the Torah was received at Mount Sinai is recorded in
the Book of Exodus chapters 19-20. It is believed that the giving of the
Torah was part of God's revelation as the giving of the Law and the
making of the Mosaic covenant. The account in Exodus 19-20 describes
the divine appearance of God on Sinai, and the giving of the laws to
Moses. According to Exodus 19:3-6, God brought the people to Mount
Sinai for the purpose of making them a 'holy nation.’

Jews believe that God dictated the Torah to Moses during the forty days
he was on Mount Sinai. When Moses descended from the mountain and
returned to the Israelites, he had two tablets of stone. These were the Ten
Commandments; a set of principles which set out the general
expectations of the Mosaic covenant relationship.

Moses was also learning all the other commandments which God required
him to teach to the people. These were to become known as the Law. The
Mosaic covenant is the foundation of the oral and written Law.

The five books of Moses are of the greatest importance and significance
to Jews as they contain the mitzvot (commandments) by which they are to
live as the people chosen by God to enter in to this special relationship
with God. The five books of Moses contain 613 commandments in which
show Jews how God wants them to live their lives.

They also set out the ethical ideals of the Jewish people, set in the
context of an account of their historical background. The practices of Jews
today may be seen as the development of laws into a lifestyle.

This is not a checklist, please remember to credit any valid alternatives.





2. (b)

© WJEC CBAC Ltd.

‘The Torah has little relevance within Judaism today.’

Evaluate this view. [AO2 15]

Candidates could include some of the following, but other relevant
responses should be credited.

Relevant today because the Jewish faith is centred upon the Torah; the
way by which God communicates with people. The Torah contains all of
the mitzvot required in order to practise the Jewish religion and because
of this the Torah should be the main source of authority. The Torah sets
out what God requires of the Jews.

Relevant today because Orthodox Jews believe the Torah is the Word of
God, which was revealed and dictated to Moses on Mount Sinai. Because
of this they continue to accept the authority of the Torah as the direct
revelation of Divine law. The Torah will always be the starting point as the
sources of authority when a question or issue is raised in Judaism.

The importance and authority of the Torah is emphasised by the way the
Sefer Torah is written by hand, and copied letter by letter from an original
by a sofer (scribe). Completed scrolls are kept in the Aron Kodesh at the
synagogue. This demonstrated the importance of the Sefer Torah within
Judaism.

Religious and ethical discussions were passed on by word of mouth in
Judaism until recorded in the form of the Mishnah, the Talmud and the
Midrash. These are important sources of authority which continue to
provide the basis for further discussion and interpretation.

A rabbi is alternative important source of authority. A rabbi is a student of
the Torah and will be able to give guidance to questions about how the
Torah is to be interpreted in contemporary society. This is done by making
reference to rabbinic tradition.

Credit for different approaches observed by Orthodox and Reform Jews.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

Ffocws clir i'r ateb o'r dechrau. Cysylltiad amlwg i bwysigrwydd y Torah ym mywyd dyddiol/crefyddol yr Iddewon. 



Sticky Note

Cysylltiad da rhwng yr hanesyddol a defnydd cyfoes a rol y Torah sy'n dangos pwysigrwydd hanes fel rhan o hunaniaeth Iddewig. 



Sticky Note

Dealltwriaeth clir o rol y gorchmynion sydd yn y Torah fel ffordd o roi arweiniad i'r Iddewon. 



Sticky Note

Cyfeiriad da at rol y Torah wrth roi arweiniad ysbrydol mewn anser o galedi. 
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Sticky Note

Gwybodaeth clir, ateb gyda ffocws amlwg a dealltwriaeth o ged ac arfer Iddewig. 
Syniadau amrywiol da wedi eu trafod mewn ffordd clir.
Defnydd manwl o dermau a iaith arbenigol. 
Byddai paragraff byr i gloi wedi cryfhau'r ateb ychydig ac wedi ei godi i ben y band uchaf. 



Sticky Note

Gallai cyflwyniad byr at y cwestiwn wedi ffocysu'r ateb ychydig yn fwy. 



Sticky Note

Mae'r cyfeiriad at Iddewon diwygiedig yn dangos dealltwriaeth ehanach ac ymwybyddiaeth o fodolaeth syniadau amrywiol. 
Byddai enghreifftiau penodol efallai yma'n cryfhau'r ateb ymhellach. 





Sticky Note

Cyfeiriad da at Iddewon Uniongred sy'n dangos syniadau amrywiol ac eto ymwybyddiaeth nad yw pob Iddew o'r un farn. 
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Sticky Note

Mae'r cyfeiriad yma at weddi'n dangos perspectif gwahanol eto.  Gellir gweld fod dadl clir wedi datblygu yma. 



Sticky Note

Syniad gwahanol eto o ran ffordd o addysgu - mae hyn yn dangos dealltwriaeth dyfnach o gred a ffordd o fyw. 
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Sticky Note

Mae'r paragraff byr i gloi yn cadw ffocws i'r ateb ac yn dangos dealltwrieth hyd y diwedd.
Ceir dadansoddiad da yma o'r cwestiwn gyda sawl syniad wedi trafod. Mae cyfeiriad amlwg at synaidau Iddewig gwahanol sydd yn ehangu'r ateb gan ddangos amrwywiaeth cred. 
Mae tystiolaeth clir hefyd o resymu yn yr ateb hon sydd felly yn eu roi yn y band uchaf. 






















(a) Esboniwch arwyddocad y Torah a dderbyniwyd ar Fynydd Sinai. [15]

(b) ‘Dydy’r Torah ddim yn berthnasol iawn mewn Iddewiaeth heddiw.’
Gwerthuswch y farn hon. [15]























































